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Category 4: Organisms and the Environment A, B, & C

1. One example of a genetic variation within a bird species is individual organisms having —

A beaks of different lengths

B broken wings

C double-stranded DNA

D pairs of chromosomes

2. Most of the hereditary information within the cell is carried in the chromosomes by the ___ .

E ribosomes 
F vacuoles 
G genes 
H Golgi bodies

[image: image1.png]A diagram of a plant cell is shown below.
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3. The cell to the right most likely belongs to an organism of the kingdom __.

I Animal
J Plant
K Fungi
L Eubacteria

4. In plant and animal cells, which organelle is used for storing water?

M Vacuole
N Mitochondrion
O Cell Wall
P Nucleus

5. Some zooplankton belong to the kingdom Protista. Members of this kingdom are characterized as ‑
Q having segmented bodies with jointed legs

R containing one or more eukaryotic cells

S laying eggs with a protective shell

T having a heart, lungs, and a brain

6. Multicellular organisms that are also eukaryotes and are able to move and get food from other organisms probably belong to what kingdom?

U Plant
V Fungi
W Animal
X Protist

7. A laboratory investigation included examining prepared slides of pond water. Single-celled organisms with a nucleus and either cilia or flagella were visible. These organisms probably belong to the kingdom __.

Y Animal
Z Fungi
AA Plant
AB Protist

8. A diagram of a plant cell is shown below.

[image: image14.emf]
The function of the plant cell structure shown in the enlargement is to – 

AC provide support for the cell

AD direct all the cell’s activities

AE use energy from sunlight to make sugar

AF regulate substances that enter and exit the cell

9. Eukaryotes are classified into four kingdoms according to certain characteristics. The diagram below shows some characteristics of the four kingdoms.

[image: image2.png]Eukaryotes are dassified into four kingdoms according to certain characteristics. The diagram
below shows some characteristics of the four kingdoms.
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Which of these is the plant kingdom?

AG Kingdom 1

AH Kingdom 2

AI Kingdom 3

AJ Kingdom 4

10. What percentage of the offspring should have the recessive trait, if both parents each have the dominant and recessive allele?

AK 0%

AL 25%

AM 75%

AN 100%

Name___________________________________________________Period____Date_______

Category 4: Organisms and the Environment D & E
11. Which of the following characteristics could help short plants survive in areas with limited sunlight?

AO Broad leaf surfaces

AP Brightly colored flowers

AQ Thick stems

AR Shallow roots

12. [image: image3.emf]Some members of the pumpkin family produce roots capable of storing large amounts of water. Some of these roots have a very large mass. In which type of environment are these plants most likely found?

AS Aquatic
B  Dry

C  Cold
D  Humid
13. The diagram to the right shows a simplified food pyramid. The number of organisms is generally smaller at the top than at the bottom because organisms at the top usually ___ .

AT have more offspring

AU have more predators

AV adapt more quickly

AW require more energy

14. A hummingbird feeds on the nectar of a flowering plant. In this process the bird gains nutrition while spreading the plant’s pollen to other flowers. The relationship between hummingbirds and flowering plants is an example of ____ .

AX Commensalism
B  Predatory

C  Mutualism

D  Parsitism
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The difference in the size of each layer of this food pyramid is primarily the result of the difference in ___.

AY food choices of individual niches

AZ oceanic zones of habitat

BA the amount of food energy at each trophic level

BB the heights (tallness) of the organisms

16. [image: image5.emf]In the diagram above, one cell creates and releases chemicals that travel to a second cell and quickly call that cell into action, by passing the message impulse along. This diagram represents part of the  ____.

BC reproductive system 

BD nervous system

BE muscular system

BF skeletal system

17. Which of these steps in the digestive process is a physical change?

BG Water being absorbed in the large intestine

BH Proteins breaking down chemically into amino acids

BI Saliva changing starches into sugars

BJ Insulin working on simple sugars

18. An oakworm caterpillar feeds on the leaves of an oak tree, and destroys most of the tree. This type of interaction is an example of ____ .

BK Mutualism

B  Commensalism

C  Competition

D  Parasitism
19. Liana plants are woody vines that grow on some trees and thrive in rain forests. These climbing plants are most likely adapted for ____ .

BL competing with other plants for oxygen

BM preventing predators from eating insects

BN growing through layers of plants to reach available sunlight

BO absorbing the nutrients found in the soil

20. [image: image6.emf]A person living near this pond wants to reduce the mosquito population. The mosquito population included in this food web could be reduced by ____ .

BP planting more duckweed

BQ adding more shelter for frogs

BR removing some martin houses

BS catching more minnows

21. Which of the following is directly caused by muscle action in the human body?

BT Repairing of nerves

BU Healing of wounds

BV Release of chemical hormones

BW Movement of limbs

22. After being introduced in the 1930s, the fire ant (Solenopsis invicta) became established throughout the southern United States. One biological way to control fire ants might be to introduce organisms that are __.
BX [image: image7.emf]parasitic to fire ant larvae

BY helped by fire ant workers

BZ preyed on by fire ants

CA mutualistic with fire ant queens

23. According to this food web, which of these is an omnivore and a consumer?

CB Caterpillar

CC Mouse

CD Fly larva

CE Ant

24. At one time large herds of bison roamed across the Great Plains. Brown-headed cowbirds often followed the bison, capturing and eating insects that scattered as the bison walked through the grasses. This relationship between the bison and the cowbird is an example of ___ .

CF predation

CG competition

CH commensalism

CI parasitism

25. [image: image8.emf]Some students grew plants of the same species in soils with different pH values. Their data are shown in the table above. The students hypothesized that these plants grow best in soil with a pH of 6.4 to 6.8. According to the data, which of the following best supports the hypothesis?

CJ Plants in Groups 5 and 6 grew the most.

CK Plants in Groups 1 and 2 grew the most.

CL Plants in Groups 3, 4, and 5 grew the most.

CM Plants in Groups 2, 3, and 4 grew the most

26. [image: image9.emf]The diagram above is intended to show relationships in an ecosystem. What do the arrows represent?

CN The direction of energy flow

CO Differences in eating habits

CP Progressively smaller organisms

CQ The migration of a population

27. Which of the following is most likely to cause increases in a predator population?

CR Fewer prey

CS A reduction in competition

CT More parasites

CU A period of drought[image: image10.emf]
28. Which organisms in this food web can be described as both primary and secondary consumers?

CV Hawks

CW Weasels

CX Raccoons

CY Mice
29. [image: image11.emf]In this food chain, the spiders are —

CZ producers and autotrophic

DA primary consumers and heterotrophic

DB competitors and predators

DC [image: image12.emf]secondary consumers and heterotrophic

30. A portion of the human excretory system is represented in the diagram. The order in which urine flows through the system is ___ .

DD urethra ( bladder ( ureter ( kidney

DE ureter ( kidney ( bladder ( urethra 

DF kidney ( ureter ( bladder ( urethra 

DG bladder ( urethra ( kidney ( ureter

31. Energy used by producers in a grassland food web is provided by —

DH sunlight

DI photosynthesis

DJ oxygen

DK carbon dioxide

[image: image13.emf]
32. Lemmings are small mammals that experience a population explosion about once every four years. Snowy owls eat lemmings. Which of these statements is supported by the data in this graph?

DL The snowy owls are becoming extinct.

DM Lemmings live much longer than snowy owls.

DN The habitat of the lemmings is continuously decreasing in size.

DO The snowy owl population increases because of an increase in lemmings. _

33. Which of the following lists has correctly matched the pictured birds with their diets?

DP Ruby-throated Hummingbird–nectar;
Red-tailed Hawk–insects;
Yellow-bellied Sapsucker–rodents
DQ Ruby-throated Hummingbird–insects;
Red-tailed Hawk–nectar;
Yellow-bellied Sapsucker–rodents
DR Ruby-throated Hummingbird–rodents;
Red-tailed Hawk–nectar;
Yellow-bellied Sapsucker–insects
DS Ruby-throated Hummingbird–nectar;
Red-tailed Hawk–rodents;
Yellow-bellied Sapsucker–insects _
34. Which of these processes helps extract energy from food?

DT Reproduction

DU Digestion _

DV Excretion

DW Circulation

35. Some plants have a hard waxy coating on their leaves that helps prevent water loss. In which environment do these plants most likely grow?   

DX Desert

DY Marine

DZ Grassland

EA Rain forest

Plants ( Aphids ( Spiders ( Sparrows








